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1. Sketch the graph y = —x"(x—2)(x +7)*

y=-x* [y

2. Write the exact equation of the polynomial function
that passes through the point (0, -4)

X==-5,-1,4,7F

y= a(%+5) (XH\)(
—g=a (29NCH)ER
-4=},z00 Q.

y= = g (X+9) (x+D(>< C!)(x— '
Y= Fam0 (XHS) (XHI(X-Y) o) |

3. Write the polynomial function in standard form given the rootsx=—-2, x=0andx=5.

X=-2 ,x=0,%X= 5
(X-J'l')fXJLX \) O
Y= (X*=3x-10) —

4. Divide x*'-2x"+8x+11by x+2 and then write
your answer (the quotient) in standard form.

-2l | 0 -2 & ||
= V-2 4 -4 "8
’TTZ’ 2 4 3
_———
X262 2+ + S|

5. Solve (find the zeros). x> —19x+30=0

g 1,2,3,5,6, 10,153 70

4y 10-19 30 XH2X=13 =0
R N

2 1979 %5 =) )
7 =z z 5 ©

6. List all the possible | 7. Find all the roots (zeros) of x* —5x° +10x? —20x +24 =0
rational roots of 2 _ [ t2*3 il-f xS 22 2y
7x* +3x+11=0 Ol
-S 10 -20 24
P _ _!..l.-- .l.l ‘{( { ...-Li [ "'lq ,
a T, p = & & O S
— -$ 10 20 2 @
T4 &J.f._’i\ J/ 2 -6 ,7_
:]}~|i “7) 7] | -3 4"7-
| -3 4 -17—”:3
I 0O 4 ©
X*+4=0



8. Find an exponential growth model (y =ab™ +k)

‘whose graph passes through the pom’r@) nd
(3, 123)and has the asymptote y=-12

4g =q-b'+ =12 2 60ab’
j23=0-b> -1z 135=a°b’

(1,48)
(3,123)

9. Solve. log,(3x)+log,(x—2)=log,(2-x)
log,, [3x(c-2)] = log, (2-X)
3x(x-2)= 2-X
3x>-px =2-X
3x25x-2=0
(3x+1 )(x 25 =0

)c/ X/Z

both are extransdus

| No So/w’w" I

P44 ,o,—%

10. Factor 125x” +27
j2s x*+ L7
(Sx\ +(3Y’

rQ & L2 = (a-}—’:))(a abf-b)
(i) +(3) @

3m {/}?

11. Expand the logarithm. log(
Tp

- log (3m n - log(smn¥ TP {”’/j
[/093+109m+lq3i [037 03P>

V2x+7

12. Find the inverse of f(x)= 5

B \JZH-%_?
13
IBX: \IZU+7
(13R)*= Z2Yy+ |
/6q7(2 = Zy +7

[69X-1 =2
té‘?,__ﬁi* =y
2.

13. Use synthetic division to show that /5

is a zero of g(x)=x"-3x"~5x+15 VS 15 a2ERD
VS ' | -3 -5 /5 because
I Vs -3Bts s~ remamdm

. m_s”
/ -3+\f5 F3vs &) 66

- 343 (\FS)
'3[3)

@E |

\)"(3+\F)



